GENERAL NOTES:
1. THESE WINDOW SYSTEMS HAVE BEEN TESTED,
ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO
EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN
PRESSURE TABLE(S).
2, OPENINGS, BUCKING & BUCKING FASTENERS MUST BE
PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND
LOADS TO THE STRUCTURE.
3. ALL HARDWARE & FASTENERS SHALL BE IN
ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY
UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS.
SPECIFIED ANCHOR EMBED TO BASE MATERIAL SHALL BE

60" MAX. FRAME WIDTH

6" MAX.

b 60" MAX. FRAME WIDTH

62 3/4" MAX. RECEPTOR WIDTH

6" MAX.

/AN ’——-— 6" MAX.
® |

BEYOND WALL FINISH OR STUCCO.

4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN
REPRESENT THE PRODUCTS TESTED & PROPOSED FOR
WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR
PRESSURE TESTING IN CONFORMANCE WITH ASTM E330,
E283, 331, F588, E1886 & E1996 FOR LARGE MISSILE
IMPACT WINDOWS.

5. THESE WINDOW SYSTEMS HAVE BEEN DESIGNED IN

6" MAX. ——i
%

a

ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE
INTERNATIONAL BUILDING CODE (IBC).

6. WHEN GLAZED FOR SMALL MISSILE IMPACT, THESE
WINDOWS MAY NOT BE INSTALLED AT ELEVATIONS BELOW
30 FT. ABOVE GRADE OR AT ANY CODE DESIGNATED LARGE
MISSILE IMPACT LOCATION WITHOUT AN APPROVED SHUTTER.

SEE "FRAME ANCHOR

‘REQUIREMENTS TABLE” ON THIS

SHEET FOR REQUIREMENTS.

7. WHEN LARGE MISSILE IMPACT GLAZED, IMPACT
SHUTTERS ARE NOT REQUIRED WITH THESE WINDOWS.

8. ALL ANCHORS SECURING WINDOW FRAME TO PRESSURE
TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE
OF RESISTING CORROSION CAUSED BY THE PRESSURE
TREATING CHEMICALS IN THE WOOD.

9. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS
TO USE WHEN REFERENCING THESE DOCUMENTS IN
ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING
WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN
ACCORDANCE WITH THE INTERNATIONAL BUILDING CODE, A
DIRECTIONALITY FACTOR OF KD = 0.85 MAY BE APPLIED
PER THE ASCE-7 STANDARD.

10.  NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED
IN THE CERTIFICATION OF THIS PRODUCT. WIND LOAD
DURATION FACTOR CD = 1.6 WAS USED FOR WOOD

SCREW ANALYSIS ONLY.

11. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL
SCREWS, THAT COME INTO CONTACT WITH OTHER
DISSIMILAR MATERIALS SHALL BE SEPARATED OR COATED
AS REQUIRED TO AVOID CORROSION OF EITHER MATERIAL. >

B

72" MAX. FRAME HEIGHT
67 5/16" MAX. D.L.O.

q

STRAP ANCHORS WHERE SHOWN.

55 5/16” MAX. D.L.O.

6" MAX.

6" MAX.

q Q——r—

SIMILAR

0
>
R,

RECEPTOR & SUB-SILL SCREWS
WHERE SHOWN. SEE "FRAME
ANCHOR REQUIREMENTS TABLE”
ON THIS SHEET FOR
REQUIREMENTS.

<&

e N [ — -

G—r
15" MAX. 0.C.
(ALL SIDES)

A

74" MAX. RECEPTOR HEIGHT
67 5/16" MAX. D.L.O.

72" MAX. FRAME HEIGHT

OPPOSITE

&/

D

~

<l—r

15 1/2"
MAX. 0.C.
(ALL SIDES)

g— 1

55 5/16" MAX. D.L.O.

h—t

\

e

6" MAX.

~

SEE "CORNER
CONSTRUCTION”
DESCRIPTION ON
THIS SHEET

>+

A

EXTERIOR ELEVATION;

A A {

SEE "CORNER—
CONSTRUCTION”

SINGLE_WINDOW_MOUNTED

EVALUATION WAS THAT IN FORCE AT THE TIME OF THE EVALUATION.

WITH ALL CURRENT TESTING, CODES AND APPLICABLE STANDARDS.

EVALUATION OF THIS PRODUCT IS BASED ON APPLICABLE STANDARDS AND/OR INFORMATION &
RESULTS FROM APPLICABLE TEST REPORTS. THE BUILDING CODE VERSION CONSIDERED WITH THIS
IN THE EVENT OF CODE
VERSION CHANGES/UPDATES OR IN THE EVENT THAT NEW OR ADDITIONAL TESTING IS COMPLETED
ON THIS PRODUCT, PRIOR TO STATING CODE COMPLIANCE, THE MANUFACTURER SHALL CONFIRM
WITH THE EVALUATION ENGINEER OF RECORD THAT EVERYTHING SPECIFIED HERE-IN IS CURRENT

WITH STRAP ANCHORS

DESCRIPTION ON

FRAME ANCHOR REQUIREMENTS TABLE
STRAP ANCHOR, RECEPTOR, SUB—SILL & MULLION CLIP SCREWS
OPENING TYPE STRAP/RECEPTOR/SUB—SILL/MULLION  |MINIMUM | MINIMUM
(SUBSTRATE) CLIP TO OPENING FASTENER TYPE EMBED |EDGE DIST.
MIN. 2X_ WOOD FRAME OR BUCK
(MIN. GR. 3 & G=0.55) NO. 12 SMS OR WOOD SCREW 13/8" 3/4”
MIN. 18 GA. 33 KS| METAL STUD [NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
MIN. 1/8” THK A36 STEEL NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
MIN. 0.100" THK 6063—T5 ALUM. |NO. 12 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
MIN. C—90 CMU (1) 1/4” CONCRETE SCREW 11/4” 2"
MIN. 2500 PS| CONCRETE (1) 1/4” CONCRETE SCREW 1.1/2" 2"
(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ELCO CRETE—FLEX, ITW
RAMSET/RED HEAD TAPCONS OR HILTI KWIK—CON Il (HARDENED STEEL OR S.S.).

SCALE: 3/4” = 1'-0"

THIS SHEET
NOTE: FOR

USE OF MID-RAIL(S) WITH
THESE WINDOWS, SEE ELEVATIONS ON
SHEET 2 & 3

ALLOWABLE DESIGN PRESSURE
(SINGLE WINDOWS)

SEE TABLE ON SHEET 4

Cl .
SASH FRAME: MITERED, JOINED TOGETHER WITH 2 CORNER KEYS
(ITEM #17), SECURED WITH (2) MS5X20 SCREWS PER CORNER KEY
AND SEALED WITH DOW 1199 SEALANT.

RECEPTOR: MITERED, JOINED TOGETHER WITH A CORNER KEY (ITEM
#18), SECURED WITH (2) M5X20 SCREWS PER CORNER KEY AND
SEALED WITH DOW 1199 SEALANT.

RECEPTOR TO SUB-SILL: RECEPTORS ARE COPED & BUTTED TO
THE SUB—SILL AND SEALED WITH DOW 1199 SEALANT.

MID—RAIL: COPED, JOINED TOGETHER WITH 2 BRACKETS (ITEM
#19), SECURED WITH (1) M5X20 SCREW PER BRACKET AND
SEALED WITH DOW 1199 SEALANT.

A A

EXTERIOR ELEVATION;
SINGLE WINDOW MOUNTED WITH
RECEPTOR & SUB—SULL
SCALE: 3/4” = 1'=0”

T

TN TRy
C OF
PRSI
Al 17

Ly

S
CERTIFICAT]

'f.__l/c

2
R

b

THESE DRAWINGS ARE APPLICABLE ONLY 10 THE PRODUGT]
SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY
IAND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY

REVISION DESCRIPTION

NO.|

JOB INFORMATION:

KAWNEER COMPANY, INC.

555 GUTHRIDGE COURT
NORCROSS, GA 30092

770-449-5555

AA900 FIXED WINDOWS (SMALL & LARGE MISSLE IMPACT)

3
o
=z
©
mi}
[}
=
o
4
[}
i
jre
<
@
L
= .
EX 8=
<
o 5.
§§
§ o
=] o

CONSULTING, P.A. (REG. NO. F—14980)
7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744—3424

ATIOR S

«

NOW2 5 2013

RAWING NO. [REV.
1689T '

. SCHAEFER, P.E.
E. NO. 113497

z!
ER
=

[THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL
OF ANY PRODUCT NOT PRODUCED BY THE MANUFACTURER
ISTATED ON_THESE DRAWINGS.

OF

SHEET NO.

8




i.

60" MAX. FRAME WIDTH

60" MAX. FRAME WIDTH

60" MAX. FRAME WIDTH

%

—{ =1 5/8" MAX. l-—1 5/8" MAX.
6" 6” 6"
\vd A\v4 AV Av4 \v4 AV Av4 Av4 AV AV Av4
MV 7 7
|
g ) o
& T & <
g /
: D 7
g b
Z 4
>
|
] 2l % 7
AN A JaN A_) / A A A A A AN A A
SEE MULLION END EXTERIOR ELFVATION;
gHEfEAE'% LN MULTIPLE FIXED WINDOWS WITH STRAP ANCHORS

MULTIPLE UNIT NOTES:

FOR ALL DETAIL NOT SHOWN, SEE SINGLE WINDOW ELEVATIONS.
2. THERE IS NO LIMIT ON THE NUMBER OF WINDOWS THAT MAY BE COMBINED HORIZONTALLY INTO ONE

OPENING PROVIDING THE OPENING IS DESIGNED TO SUPPORT ALL LOADS TRANSFERED FROM THE WINDOWS &
THEIR MULLIONS.

SCALE: 3/4" = 1’-0"

ALLOWABLE DESIGN PRESSURE
(MULLED WINDOWS)

(1) +/-90 PSF

NOTE:

1. ALLOWABLE UNIT PRESSURE SHALL
BE THE LESSER OF THE PRESSURE
SHOWN IN THIS TABLE & THAT

SPECIFIED FOR THE INDIVIDUAL WINDOW.

SEE SINGLE
WINDOW
ELEVATION FOR
STRAP ANCHOR
REQUIREMENTS
& POSITIONS
AROUND
WINDOWS

REVISION DESCRIPTION

NO..

770-449-5555

KAWNEER COMPANY, INC,
555 GUTHRIDGE COURT
NORCROSS, GA 30092

—
JOB INFORMATION:

7480 150TH COURT NORTH
PHONE: 561-744-3424

PALM BEACH GARDENS, FL 33418

AA900 FIXED WINDOWS (SMALL & LARGE MISSLE IMPACT)

W. W, SCHAEFER ENGINEERING &
CONSULTING, P.A. (REG. NO. F—14980)

DRAWING TITLE
CONSULTANTS

W. /SCHAEFER, P.E.
.E/NO. 113497

I3
ES
=

RAWING NO. [REV.
1689T

SHEET NO.

ofF B




CHECKED BY:
W.W.S.
60" MAX. FRAME WIDTH 60" MAX. FRAME WIDTH 60" MAX. FRAME WIDTH T 7
—f 1 5/8" uAx. — —1 5/8" wax. g
o H
SEE MULLION END DETAIL: 5 || 6 6 || & 5
"C" ON SHEET 4 \b_ﬁ % L—J(
I g p—— e € | S S ———— Ry | S pep—p——— D —— —— g g
I 1 &
o // // ) Ia g
V4 v % l z
| ' ' | :
| | SEE SINGLE 3
ol | / WINDOW
- ELEVATION FOR 5
5 = ' o () ' RECEPTOR & 2ES
© | 5 < < 38
o3 &/ | &/ | I SUB-SILL 8318
= | 7 | ANCHOR £, 8
o 5 Ly n
S . | o I REQUIREMENTS ~| £851
2O BN | & POSITIONS ol 82,3
3 B | [[{ AROUND £ £33
2 E | ~ WINDOWS = | B3R
x < / 4 l bl Zne™
-3 S x | 7l 382
y R ' | 2K
~ DI | = B
| I8 8 g
| | g
j 12}
: | | [ s B
| P
| // // // | 3 2
<
> / / I Z :?-
| N I ol 2L e
AN A A _/A\\/ A A A A A AN A A = Hd Ei’
SEE MULLION END EXTERIOR ELEVATION: S| 2253
i MULTIPLE FIXED WINDOWS WITH RECEPTORS & SUB-SILL =| &gEs:
SCALE: 3/4” = 1'=0" gl =88l
. z38
ALLOWABLE DESIGN PRESSURE £ %Z‘_‘ Eg‘i’
o
(MULLED WINDOWS) S| Boiis
(1) +/-90 PSF B2 |eLE 7
NOTE: £73
1. ALLOWABLE UNIT PRESSURE SHALL = [2%2
BE THE LESSER OF THE PRESSURE = ls S
SHOWN IN THIS TABLE & THAT
SPECIFIED FOR THE INDIVIDUAL WINDOW. >
e
MULTIPLE UNIT NOTES FOR WINDOWS INSTALLED WITHOUT RECEPTORS: 191
1. FOR ALL DETAL NOT SHOWN, SEE SINGLE WINDOW ELEVATIONS. =%
2. THERE IS NO LIMIT ON THE NUMBER OF WINDOWS THAT MAY BE COMBINED HORIZONTALLY INTO ONE 123
OPENING PROVIDING THE OPENING IS DESIGNED TO SUPPORT ALL LOADS TRANSFERED FROM THE WINDOWS & . (5
THEIR MULLIONS. o, 1EE
BeS Lt 2. 50 =~ |[ DRAWING No. [REV.
Nsi PR tesaT
ASSSS SHEET NO.
3 o B




ALLOWABLE SINGLE WINDOW SEE GLASS SEE GLASS SEE GLASS e [
PRESSURE TABLE OPTIONS BELOW OPTIONS BELOW "~ "|” OPTIONS BELOW " P
ALLOWABLE PRESSURE DOW 995, TREMCO PROGLAZE
MAXIMUM | MAXIMUM _ SILICONE SSG OR GE SILPRUF (TREMCO w
FRAME | FRAME (+/~PSF) &
HEIGHT | WIDTH & GE ARE ONLY APPLICABLE 3
(N) (N) | GLASS | GLASS | GLASS | GLASS ; TO GLASS OPTION 4) ‘ N :
: /| OPTION| OPTION | OPTION| OPTION 3/4” MIN. BITE 3/4" MIN. BITE 3/4" MIN. BITE &
i-4 | 5 6 |7 &8 ) \
2 60 90 | N/A | 70 | 90 z
30 90 90 [ 70 | 90 E
[EXTERIOR] EXTERIOR EXTERIOR €
1. SEE GLAZING DETAILS FOR GLASS OPTIONS. [EXTERIOR] g
2. "N/A” DESIGNATES A SIZE NOT APPLICABLE TO : <
THAT GLASS OPTION. GLAZING DETAIL 1 GLAZING DETAIL 2 GLAZING DETAIL 3 2
(LM.l._GLASS WET GLAZED) (L.M.I. GLASS DRY GLAZED) (S.M.L._GLASS DRY GLAZED) K
OPTIONS 1-5 OPTION 6 OPTION 7 & 8 £
GLASS OPTION 1: 1 5/16" LAMINATED 1.G. (1/4” GLASS OPTION 6: 1 5/16” LAMINATED 1.G. (1/4”  GLASS OPTION 7: 1” LAMINATED 1.G. (3/16” G o
TEMPERED; 1/2” AIR SPACER; 1/4” H.S./0.075” TEMPERED; 1/2" AR SPACER; 1/4” H.S./0.090"  TEMPERED; 3/8" AR SPACER: 3/16" H.S./0.060" Zx 2
SOLUTIA SAFLEX CP/1/4” H.S. INTERIOR) DUPONT SG/1/4” H.S. INTERIOR) SOLUTIA SAFLEX,/3/16" H.S. INTERIOR) -3 3
GLASS OPTION 2: 1 5/16" LAMINATED I.G. (1/4” GLASS OPTION 8: 1" LAMINATED 1.G. (3/16" ?(_J s
TEMPERED; 1/2” AIR SPACER; 1/4” H.S./0.090” TEMPERED; 3/8” AIR SPACER; 3/16” H.S./0.060” | ~ L6
SOLUTIA SAFLEX HP/1 ;4" H.S. INTERIOR) o DUPONT BUTACITE "ST” PVB/3/16” H.S. INTERIOR) '&;’ 82,2
GLASS OPTION 3: 1 5/16" LAMINATED 1.G. (1/4 ~ s £
TEMPERED; 1/2” AIR SPACER; 1/4” H.S./0.060" LM.I. = LARGE MISSILE IMPACT S| m520
DUPONT BUTACITE PVB/1/4" H.S. INTERIOR) SM.l. = SMALL MISSILE IMPACT wl| 2.8~
GLASS OPTION 4: 1 5/16” LAMINATED 1.6, (1/4” SUBSTRATE BY OTHERS || o 38%
TEMPERED; 1/2” AIR SPACER; 1/4” H.S./0.090” PER "FRAME ANCHOR 2z
DUPONT SG/1/4” H.S. INTERIOR) REQUIREMENTS TaBLE” || = 2
GLASS OPTION 5: 1 5/16" LAMINATED 1.G. (1/4” w B
TEMPERED; 1/2" AR SPACER; 1/4” H.S./0.120" MULLION CLIP [
CYTEC UVEKOL S/1/4” H.S. INTERIOR) ﬂ ﬂ SCREWS P S s
/‘@ "FRAME ANCHOR K |-
. . REQUIREMENTS - s
/-@ TABLE” (2 PER 2| «8
@ ‘ CLIP) o %1"
2! o
S -]
E7g
N S| 558
) [ L = | o Egs
®/ i 'q' @ | g =S85
/—@ RECEPTOR y ¥ Heeds
= WS Sy
h@—/_ | J L
— @ 9| D5 8%a
See |,2Z 73
——/\— wlfS |25 ¢
a2 5.3
T @ ZE [#E
z2 O
N N o] e =
- = - %%
@’\ SUB-SitL - *_,..5% :.é_fg_gt |
LN UL s SN
o~ & P A
@~ L SUBSTRATE BY - ~ B3 SRS N E ™
o 4 OTHERS PER | 3 1 5‘5'% N %
"FRAME ANCHOR s ¢ T 3
MULLION CLIP MULLION CLIP s SUBSTRATE BY 6 Y] zr
SCREWS PER $E§EE',F$EMENTS SCREWS PER \: OTHERS PER £5 O
"FRAME ANCHOR A "FRAME ANCHOR v "FRAME ANCHOR EAN
REQUIREMENTS REQUIREMENTS REQUII"}’EMENTS
TABLE” (2 PER TABLE” (2 PER TABLE
cLpP . CLP) » »
) MULLION END DETAIL "A” MULLION END DETAIL "B” MULLION END DETAIL "C”
(WINDOW FRAMES NOT SHOWN FOR CLARITY) (WINDOW FRAMES NOT SHOWN FOR CLARITY) (WINDOW FRAMES NOT SHOWN FOR CLARITY)




STRAP ANCHOR SCREW RECEPTOR SCREW

TABLE”

OPTIONAL DIRECT MOUNT DETAIL

TO SUBSTRATE WITH SPACER
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME)
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

SUB-SILL SCREW
PER ELEVATION

SECTION

SUBSTRATE BY SUBSTRATE BY OTHERS
otieme bR PER ELEVATION PER ELEVATION PER "FRAVE ANCHOR ONE
FRAME ANCHOR 127X 4 1/ REQUIREMENTS TABLE 5/8" MIN. 5/8" MIN.
REQUIREMENTS
” SHIM AT EACH SILICONE
TABLE STRAP ANCHOR y SEALANT — —
3/8” MAX.
8" MAX. SPAC
_{’_3/ A £ SHIM AT
EACH ANCHOR
SEALANT BY T I
OTHERS h SEALANT [o) I —
5 BY OTHERS 5 D D
L
e @ ] ]
|_\2_) 3 _ P—
( ) E RECEPTOR 5/8" MIN. NE NG
T 27 27
EXTERIOR | %5 [EXTERIOR]
SEE GLAZING 25 _
DETAILS ON 2 ( -
SHEET 4 )
SCA?IEC;T /]gl\ll-‘ULL @17 [EXTERIOR] ™ = SECTION /&
: ‘\/J_J_ SEE GLAZING ] SCALE: 1/2 FULL \5/
DETAILS ON =¥
SHEET 4 o L
SECTION ™ /2N g5
SCALE: 1/2 FULL \5/ W A SEE GLAZING
z B DETAILS ON
e SEE GLAZING & & SHEET 4
DETALLS ON
CONTINUOUS WOOD MEMBER LESS ) SHEET 4 ( )
N THICKNESS TH/AN A ZX_(BUCK @\ A
TO BE MIN. 3 1/2” DEEP (NOT sl = DE
REQUIRED WHEN SHIM SPACE IS £} @\ = DO
WITHIN ALLOWABLE DIMENSIONS 5 SUBSTRATE BY OTHERS gﬁﬁ)ﬂf
SHOWN IN_ SECTIONS). s PER 'FRAME ANCHOR 4
= REQUIREMENTS TABLE ) 26
; SUB-SILL X\ S 2
5< seaT—~| N EXTERIOR
BY OTHERS S
u FRAME SCREW PER S
ELEVATIONS & ~ L 3/8" MAX.
"FRAME ANCHOR - SHIM AT
REQUIREMENTS E EACH ANCHOR
5

(D

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR

SECTION g REQUREMENTS TABLE"
SCALE: 1/2 FULL ‘

SCALE: 1/2 FULL \5/J

SEE GLAZING
DETAILS ON
SHEET 4

L -

o
=

Z)
=
13
Q
|
=
Vi
O

DRAWING NO.

1689T

w
1
g
=
o
[
o
(53
4}
o
z
<]
1]
bl
&
S
z
S oy
Zxro
89w
zori
4%
=] ZEa9%4
ol QrF .¥
< OTFui~
| LEQI
= E50o
= Hoer
= or~
Ll £0x
? | 282
= =
w
oR
x|z
5 D
g
e
- )
2| =3
= | 82
L1 o
z) o
E
o | Yo E",
o ZZ 5 g
z| o . =3
= | &g &gz
al| «E8s1
% E{Eg“o’
| Yy 23e
I oD
Q O 221
ug Nz~ 3
ES |esF £
= zZ=z
j© E .(:/),
s 2=
< z O
8 O
ui
[:
<
= |23
o~ Erg
e |2
w2

REV.

SHEET NO.
OF

6




mew 4 | ITEM DESCRIPTION MANUFACTURER /NOTES e —] g 5934
PARTS 5 T :
1 |FRAME (USED WHEN WET GLAZED) 6063~T6 ALUMINUM ’
2 FRAME (USED WHEN DRY GLAZED) 6063-T6 ALUMINUM 2.000
3 |RECEPTOR 6063—T6 ALUMINUM
4 |SUB-SILL 6063—T6_ALUMINUM _L
5 RECEPTOR STOP 6063-T6 ALUMINUM
5 |HD MULLION 6063—T6_ALUMINUM
7 |PRESSURE PLATE 6063-T6 ALUMINUM N ]
8  |PRESSURE PLATE COVER 6063-T6 ALUMINUM DRY GLAZED)
9 |[MID-RAIL (USED WHEN WET GLAZED) 6063-T6 ALUMINUM 2930
10 [MID-RAIL (USED WHEN DRY GLAZED) 6063-T6 ALUMINUM _EO.367
11__|HEAVY DUTY STRAP ANCHOR 6063—T6_ALUMINUM 3563 | 0.070
12 |MULLION CLIP 6063—T6_ALUMINUM 115 T
13 |LMI GLAZING BEAD (USED WHEN WET GLAZED) 6063—T6 ALUMINUM (7) PRESSURE_PLATE
14 GLAZING BEAD COVER (USED WHEN WET GLAZED) 6063-T6 ALUMINUM
15 |LM.I. GLAZING BEAD (USED WHEN DRY GLAZED) 6063-T6 ALUMINUM 3.000
16 |S.M.l_GLAZING BEAD (USED WHEN DRY GLAZED) 6063-T6 ALUMINUM ~ 0.072 1 . @MID:BAIL..(LL&ED
17 |FRAME CORNER KEY CAST ALUMINUM ©) [ WHEN WET GLAZED)
18 RECEPTOR CORNER KEY CAST ZINC/CARBON STEEL 3.000
19 |MID—RAIL BRACKET CAST ALUMINUM 0,420:’ 0.50 e
20 |SETTING BLOCK EPDM (QTY. AS REQUIRED) (8) PRESSURE_PLATE N
21 |3.35" X 2.75" X 0.063” SUB—SILL END DAM PLATE 5052 H32 ALUMINUM COVER s @ @ 0.875
22 |WEEP CHECK VALVE KAWNEER #225536 WITHIN 3" OF END & AT MID-SPAN e 487 _ 'f T
23A[1/2" 1.6. GLASS SPACER 3005 OR 3105 ALUMINUM 0.090 -] ]»
23B |3/8" 1.6. GLASS SPACER 3005 OR 3105 ALUMINUM
SEALS & SEALANTS _ l
24 |BULB GASKET POLYPROPYLENE
25 | WEATHERING GASKET FLEXIBLE PVC BY KRP 1.750 0.125
26 |SEALANT SPACER SCR—900 BY TREMCO i . L ] l
27 | WEATHERING GASKET POLYPROPYLENE VISTAPLEX ] :fi:f‘——l—,—
28__|FIXED GASKET (70 +/— 5 EPDM_RUBBER) TREMCO TR—14651E 3750 0.125 () MULLION cUp
29 |WEDGE GASKET (85 DUROMETER EPDM SPONGE) EPG_PART NUMBER 6508—02-00 : HEAVY DUTY STRAP ANCHOR
30 | DEBRIDGING/THERMAL BREAK TECATHERM—66—GF
31 | DEBRIDGING/THERMAL BREAK TECATHERM—66—GF [—t-os1s 0875 7_——] 1158 I‘_
32 | DEBRIDGING/THERMAL BREAK TECATHERM—66—GF o~:3r5-5 1_02; 0.060 1056@* 0.060
FASTENERS ’ : ’
36 [NO. 10 X 3/4” PHTF S.S. SCREW WITHIN 3" OF CORNERS & 18 MAX. 0.C. - _L'T“ 0.060 ._”.:1— i
37 _|NO. B X 1 1/4 PHIF S.5. SCREW 2 PER END INTO SCREW SPLINE MMNQ (15) LML GLAZING SML_GLAZING
38 |1/4 X 3/4 HHTF SCREW WITHIN 3” OF CORNERS & 9 MAX. O.C. —i 1.375 ’_ 0.320 WHEN_ WET Q%MEMRM%Q > MM
—~ 1302 0100 0909 f—| ~ |--os63 ‘—'—‘j*r CLAZED) éliHE&EnN?WE[ GLAZED)
® ® I (20) SETTING BLOCK
] (\ 1.392 | 0.400 | 0322 ’v 0.185
o | 2677 LA 0.248 0.011 (44 | 0.082 -
! o
(18) RECEPTOR CORNER KEY (M) 1/2° 16. olass 0.327 PAX
MD-RAL BRACKET | || 37, 0% rs:
0.248 0.011 Gl DG f
T | s
3@’-@ GLASS (28) SLAZING
SPACER G

REVISION DESCRIPTION

NO.

555 GUTHRIDGE COURT
770—449-5555

KAWNEER COMPANY, INC.
NORCROSS, GA 30092

JOB INFORMATION:

AAS00 FIXED WINDOWS (SMALL & LARGE MISSLE IMPACT)

=)
83
2
o-
z!
= @
o3
Wo ER,
zzE 3
o . 2ua
&3 gy
o QW
x—og .l
M. E38
< Bry
<o 23Y¥
I o328
Oy 2%
mZI\E
bo |, 2 ~3
=% |gxF E
e
o 5.3
3=2
E |5 8

%, GERTIFICATION~

5 2013

. SCHAEFER, P.E.
. NO. 113497

T

™ g
R

RAWING NO. .
1689T ]

SHEET NO.

oF B




